St Denys Primary School

Spellings and Times Tables

Week beginning:
th
_ 29" June 2020 -

Creativity, Choice, Challenge
Achievement for All




Year 5 - School Closure - Home Learning

These are the spelling words we have been
practicing over the past eight weeks. Look at
the lists and choose words to create your own
cover and write sheets.

Statutory requirements Term 3
SET1 Week 1 Week 2 Week 3 Weaek 4
Words with “silent” latters: silent k knew knight knot knuckle
silent w wrastle wrinkle answear wrack
silent b bomb climb thumb crumib
silent t fasten listan thistle whistle
silent h honest hour ghaost exhaust
silent s island aisla debris ise
plumiber succumb doubt doulbtful
Fitension honour higir rhinocaros rhombus
_ sincere stomach symbol twelfth
Hordfit soldier suggest system vegetable
SET2 Week 5 Week &6 Week 7 Weaek 8
farther led desert past
father load dessart passad
band baron flaw currant
Homophones and banned barren floor current
near-homophones heard bridal steal foul
herd bridle steel il
aloud cereal bored pause
allowad sarial board paws
_ guassad marning draft cymbal
Futensien gueast mourning draught symibol
Don't forget to also keep checking those

spellings on our Y5 list as well.




Choose your own words to create a cover and write sheet.

Which words have you found tricky?
Which words are you still insure of?

Spellings Write Write Cover and write Cover and write

( )OOO Total /10




Choose your own words to create a cover and write sheet.

Which words have you found tricky?
Which words are you still insure of?

Spellings Write Write Cover and write Cover and write

( )OOO Total /10




Each sentence below has one word that is incorrect. Write the correct spelling of the
word in the box.

1. How could Sarah perswad her mum to stay out later?

2. The school trip was to an anshient temple.

3. Mohammad really wanted to win the compitishion.

4. Loki, the dog, hated thunder and litening.

5. There was a worrying sound coming from the vehcle.

6. It won't be nesesary.

7. The tempracher in the classroom was increasing

8. The lady next door was being a newsance.

The spelling mistakes in these sentences have been circled. Write the correct spelling
for each circled word in the box.

1. The hotel was too small tothe large party.
2. They lived in a friendly

3. “Mum, you always " shouted James.
4. Year got all of their spellings correct.

5. They were asked to leave
6. The ugly sisters would alwagsCinderella.

7. Dad hurt a leg whilstjogging.
8. They had aﬁrst day at school.




Y5/6 Spellings Word Search
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Name: Week 5 Session 1

Times Tables 2,3,4,5,6,7,8,9,10,11,12 2019-20
. Year 5 Summer (2)
Rock Stars Times Tables 5 3 week
Licensed to St Denys Primary School
1 2x7= 21 7x5= 41 3x 4=
2 11x10= 22 11x 8= 42 10 x 5 = Time taken
3 2Xx8= 23 4x1= 43 8x2=
- - 3 minute time limit &
4 9Xx6= 24 11x11= 44 11x 8=
- - E— Score
5 12x2= 25 8x3= 45 9x 4=
6 3x4= 26 8x10= 46  11x6= 60
7 9x 8= 27 7x9= 47 7x12=
- E— What's your rock status?
8 5x8= 28 6x1= 48 6 x 10 =
9 6x1= 29 3x12 = 49 3x 12 = < 18 correct in 3 mins
- — —_— ' A AZE BAdT
10 8x5= 30 11 x 2 = 50 1% 4= 18-19 correct in 3 mins
11 8x12= 31 6x3= 51 7x3= 20-21 correct in 3 mins
T KR
12 4x4= 32 9x6= 52 5x%x 11 = 22-24 correct in 3 mins
UNHASNED A<T
13 7x12= 33 6x3= 53 6 x 3= 25-29 correct in 3 mins
T BRTAKTHROUGH ARTIAT
14 7x9= 34 2x12= 54 1x7= 30-35 correct in 3 mins
JUPPORT ACT
15 3x12= 35 3x3= 55 1% 10 = 36-44 correct in 3 mins
HEADUINER
16 10 x5 = 36 8x 4= 56 10x7 = 45-59 correct in 3 mins
- - T Rodk2TAR
17 12x3= 37 2x9= 57 9x2= All correct in < 3mins
- - T RodkLEGEND
18 3x12= 38 3x3= 58 4%x5= All correct in < 2min
19 4 %x 10 = 39 9x 7= 59 2x7 = All correct in < 1 min

20 10 x 5 = 40 2x10= 60 8x3=




Name: Week 5 Session 2

Times Tables 2,3’4,5’6,7’8,9’10,11’12 2019-20
. Year 5 Summer (2)
Rock Stars Times Tables 5 3 week
Licensed to St Denys Primary School
1 13 25 37 49
5 5 8| 16 10 | 80 5 5 5| 55
Time taken
2 14 26 38 50
11 | 22 12 |144 91 99 2| 22 4| 40 3 minute time limit @
3 15 27 39 51 Score
10 |100 3] 33 4| 16 8| 40 2| 14
4 16 28 40 52 60
2| 12 3] 18 6| 66 3 3 9| 27
What's your rock status?
5 17 29 41 53
7] 35 7] 35 5| 25 11 |110 9| 45
< 18 correct in 3 mins
6 18 30 42 54 ) ADAZE BAAKED
10 | 80 8] 40 7| 42 8| 56 10| 70 18-19 correct in 3 mins
7 19 31 43 55 20-21 correct in 3 mins
12 | 60 9| 45 5| 55 6 6 12 (120  <I44ER
22-24 correct in 3 mins
\ /\’ \/" :/ ‘J’ ~“
8 20 32 44 56 UNAAGNED A<T
25-29 correct in 3 mins
9| 72 5/ 5 9| 63 11| 55 9|27 _
BREAKTHROUGH ARTIZT
30-35 correct in 3 mins
9 21 33 45 57 LUPPORT A
3 3 11 99 9| 90 51 20 10| 20 36-44 correct in 3 mins
HEADUNER
10 22 34 46 58 45-59 correct in 3 mins
9| 90 12 108 11| 11 12 144 al 32 Rodk 2TAR
All correct in = 3mins
RO<k LEGSEND
11 23 35 47 59 & LEsENp
All correct in = 2min
3] 18 71 77 31 12 7| 49 8 | 56 Adk LEBA
All correct in < 1 min
12 24 36 48 60 ur R
2| 8 12 W 11| 77 2| 4 6| 42 TGS TABLEY



Name: Week 5 Session 3

Times Tables 2,3’4,5’6,7’8,9’ 10,11’ 12 2019-20
. Year 5 Summer (2)
Rock Stars Times Tables 5 3 week
Licensed to St Denys Primary School
1 9 13 10 25 8 37 4 49 12
X 6 X5 X 6 X 6 x 12
- - o . o Time taken
2 8 14 5 26 8 38 12 50 11
X 6 X 7 x 10 X 3 X 9
3 minute time limit
3 8 15 7 27 6 39 12 51 7 Score
X 6 X 8 X 2 x 11 X 6
4 5 16 9 28 2 40 6 52 2 60
X 6 x 1 X 3 X 6 X 5
What's your rock status?
5 12 17 12 29 > 41 9 53 10
x 11 X 2 X5 X 6 X 3
< 18 correct in 3 mins
6 9 18 2 30 7 42 12 54 3 CADACE DodkEn
X 6 X 9 X 9 x 9 xo  SARAGE RO<kER
18-19 correct in 3 mins
7 11 19 9 31 9 43 4 55 8 20-21 correct in 3 mins
X 9 X 6 X 7 x5 X 8 1L LED
GI44ER
- - - - . 22-24 correct in 3 mins
\ y 4 \/" :/ ‘J’ ~
8 8 20 9 32 6 4 4 56 7 UNZAGNED A<T
X 6 X 6 X9 X 9 X 7 25-29 correct in 3 mins
BRGAKTHROUGH ARTIST
30-35 correct in 3 mins
9 5 21 2 33 6 45 4 57 7 SIDDADT AdT
X 2 X 8 X 3 x 10 x 10 7UPPORT:
36-44 correct in 3 mins
— — - — — HUDUNER
10 9 22 12 34 11 46 10 58 8 45-59 correct in 3 mins
X 3 X 3 X 9 X 4 X 2 Adlc £TAD
ROk FTAR
[ - - - . All correct in < 3mins
RO [? 1LE i[‘f
11 3 23 4 35 5 47 2 59 10 70<k LEGEND
x 11 X 8 X 1 X 8 X 6 All correct in < 2min
All correctin = 1 min
12 3 24 9 36 3 48 9 60 4 S
x 10 x 7 x 7 x 1 x 12 TUIES TABLES




Name:

Week 5 Session 4

Times Tables

2,3,4,5,6,7,8,9,10,11,12 2019-20
Times Tables Year 5 Summer (2)

Rock Stars
Licensed to St Denys Primary School
1 50 +5=
2 36 +3=
3 11 +11 =
4 63+7=
5 25 +5=
6 36 +9=
7 35 +7=
8 40 + 8 =
9 20+ 2=
10 36 +12 =
11 40+4=
12 72 +8 =
13 40 +5 =
14 33:11=
15 48 + 4 =
16 27 + 3 =
17 3+3=
18 42 +7=
19 80 + 8 =
20 33+3=

21

22

23

24

25

26

27

28

29

30

31

32

33

34

35

36

37

38

39

40

5 aweek
10+10= 41 121 +11=
36 + 12 = 42 20+ 4 = Time taken
30+ 5= 43 81 -9 =
- E—— 3 minute time limit &
60 + 6 = 44 16 + 4 =
- E— Score
24 +12 = 45 66 + 6 =
96 + 12 = 46 30 =3 = 60
E— E— What's your rock status?
132 +11= 48 80+10=
21 + 7 = 49 81 +9= < 18 correct in 3 mins
- _— . ) TR \L =T
24 + 6 = 50 120+12= 18-19 correct in 3 mins
18 - 6 = 51 50 + 10 = 20-21 correct in 3 mins
T K<
96 =+ 12 = 52 6+2= 22-24 correct in 3 mins
UNAAGNED A<T
60 - 10 = 53 6+6= 25-29 correct in 3 mins
BRTAKTHROUGH ARTIFT
72 +12 = 54 20+ 4 = 30-35 correct in 3 mins
SUPPORT ACT
35+7 = 55 96 ~ 12 = 36-44 correct in 3 mins
HEADUINER
36 + 6 = 56 63 +9 = 45-59 correct in 3 mins
Rodk 7TAR
24 + 8 = 57 96 ~ 8 = All correct in < 3mins
o<k LEGEND
60 - 6 = 58 20+ 2 = All correct in = 2min
60 + 12 = 59 55 + 5 = All correct in = 1 min
15+3= 60 42 +7 = /




Name:

Times Tables
Rock Stars

2,3,4,5,6,7,8,9,10,11,12

Times Tables

Week 5 Session 5
2019-20

Year 5 Summer (2)
5 a week

Licensed to St Denys Primary School

1

10

11

12

13

14

15

16

17

18

19

20

11 x 11 =

10 x 11 =

10 x 10 =

2X3=

I9x1=

9x1=

11 x 10 =

11 x 11 =

7x5=

9x11=

7%x8=

5x7=

8x1=

2X6=

6 x3=

9x2=

11 x 8=

9x5=

12 x 10 =

3x12=

21

22

23

24

25

26

27

28

29

30

31

32

33

34

35

36

37

38

39

40

9x5=7 41
8x3=7 42
7x9=7 43
Tx12= 44
7x6=7 45
5x11=7 46
4X2=7 47
2x5=7 48
3x1=7 49
3x8=7 50
60+1O=7 51
44 +12= 52
4+2= 53
36+12=7 54
36+12=7 55
22+11=7 56
24+8=7 57
36+12=7 58
32+4=7 59
32+ 8= 60

24 + 3 =

20+ 5=

48 + 8 =

40+ 5=

18 +3 =

45 + 9 =

21 + 3=

12+2=

40 + 4 =

20+ 10 =

30+10 =

99 +9 =

10+2=

10 +2=

77 +7 =

55 +5 =

90 + 10 =

99 + 9=

48 + 12 =

Time taken

3 minute time limit &

Score

60

Add up your time

Mins
S1
S2
S3
S4
S5

Total

Secs
S1
S2
S3
sS4
S5

Total

Add up your score
S1
S2
S3
S4
S5

Total
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